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Pivot Discussion: Keep TP0a or not

• I support keeping TP0v methodology as the 
normative specification

• Y:
• N:
• No opinion

• Assuming we keep TP0v methodology, I support 
removing the example test fixture in 163.9.2.2

• Y:
• N:
• No opinion
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Pivot Discussion: TP0 to TP0a IL
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Pivot Discussion: TP0 to TP0a IL

• I support the test fixture TP0 to TP0a insertion loss 
being

• a single value
• a range

• For the example test fixture, I support TP0 to TP0a 
insertion loss of (Chicago rules)

• 0 dB
• Between 0 and 2 dB
• 2 dB
• 2.5 dB
• 3 dB
• 3.5 dB
• 4 dB
• Greater than 4dB
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Pivot Discussion: Match TX & RX
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Pivot Discussion: Match TX & RX

• I support aligning RX to TP0v test fixture 
characteristics and methodology

• Y:

• N:
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Pivot Discussion: EOJ Susceptibility & Limit
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Pivot Discussion: EOJ Susceptibility & Limit

• To address EOJ measurement error susceptibility, I would support:  

(Chicago rules)
• A: Changing the measurement method to use PRBS9Q instead of PRBS13Q

• B: Allowing a shorter odd-length pattern with all transitions (not a specific one)

• C: Specifying or allowing a lower CRU bandwidth

• D: Use the average of the 12 transition measurements rather than the worst case

• E: None of the above

• F: Don’t care

• G: Need more information

• For the EOJ limit, I would support (Chicago Rules & Choose one)
• A: Changing the limit to 0.035 UI

• B: Changing the limit to 0.025 UI

• C: No change to the limit (0.019 UI)

• D: Don’t care

• E: Need more information
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Pivot Discussion: EW/ESMW

Similar comments   
with other remedies: 

208, 211, 240, 243, 245
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Pivot Discussion: EW/ESMW

• I support the EW/ESMW direction of

• Keep ESMW and eye width

• Replace EH, ESMW, and eye width with an eye mask as 
proposed in dawe_3ck_01_1020

• Remove ESMW and eye width and redefine EH and VEC 
as proposed in healey_3ck_01a_1020

• Remove ESMW and eye width and leave EH and VEC as is

14


